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Que.l Atterpt the following.

. sinz
) g =

(a)0 (b}x (c)1 (d) none

. tan2z
(2) }E&, o

()0 M2 (@1 (@2
) 2z
(3) il—rf(l] tan 2z

(@2 ()L (912 (@0

(4) If u = e¥cosz then uy = ........

(a) —e¥sinz (b} ~eYeosz {c) e¥sinz (d) ¥ cosz

du
5} lf u=e® then — = ...,
(5} If w = e®cosy then %

(a) ~e*cosy (b) e?cosy (c) e”siny (d) —€"siny
(6) I u = e®cosy then Uy = ...
(a) —e®cosy (b) e®cosy (c) e®siny (d} —€"siny

() (&) = oo
() A A A (A

O s

(8) IfAz[

(a) 2x3 (b) 3x3 {(c) 2x2 (d) 3x2

3
6 } then order of A is ....... |
4

{9) Reversal law for the transpose of product is.....

(a) (ABY = B'A" (b) (AB) = A'B" (c) (AB) - BA (d) (AB)=BA

(10) Associative law for matrix multiplication is .....

(a)(AB)C = A(CB) (b} A(BC) = (AB)C (¢} A+ B=B+A

(d) AB = BA

(PT0)

10




Que.2 Attempt the foliowing.(Any Ten)

1, g1, o17%
(1) Evaluate lim [li-l_—?—t?f—
200 3
2_
(2) Evaluate lim fan(e” ~ 4) .
T2 t—92
(3) Evaluate il_I}Il].] (@ — ) tan (%?)
u B
{4) For u = z* + 32y find i el
2 2
(5) For u = y° + 3z%® prove that %% = 6%(%:
P Fu
(6) For u = 2° + 4zy? find R

(7) Define Transpose of matrix,Conjugate of matrix with example.

(8) Define Conjugate transpose of matrix, Triangular matrix with example.

(9) Define Skew symmetric matrix, Hermitian matrix with example.

(10) If A = (; ‘31) then find A2 — 34 .

(1) If A= ( ; 31 ) then find A3 .

13 16 19
(12) A= 14 17 20 | then find |A].
i5 18 21

e"+log(l—z) -1
tanz —

Que.3 (a) Evaluate lim
=0

: 1 cotfn
(b) Evaluate ER} (z{:—g— 5 )

OR

. log(log(1 - 32%))
3 (¢} Evatuate lim — "2
Que3 (e} Bvaluate i -n o)

1
{d} Evaluate liug (4- 4$'2)10g(2 - %)
-

Qued (a) State and prove Euler’s theorem for function of two variables .

(b} If 1 = sin™! (Ez—gf—) then prove the following.

Tty
(i) ;r.g—f; + y%:—; = Jtanu
2. 2 2
L 0 Fu 00U "
(ii)a 3 + meamay +y i 3tanu(3sec®u — 1)

OR

20

[}

5



Vs | ooy 02 4y 02
dx? .y'c‘}may v o2

Que.d (c) Verify Euler’s theorem for z = 2" log £ .Also ﬁﬁd z?
(d) If z = f(z,y) , z = rcosd,y = rsind then prove that
o) o] [0y [
ox dyl  |or lag)

Que.5 (a) Prove that Every square matrix can be expressed in one and only one way as the sum of a
symmetric and skew symmetric matrix.

0 2m n
{b) For A= E m  —n | ,show that AA' =1; wherelz%,mzvlg,nzm}g.
-m n

OR

Que.5 (c) Prove that Every square matrix can be expressed in one and only one way as P + i) , where
P and @ are Hermitian matrices.

14+i 3—i 345 B
(A= 1-3 2% 6 | thenfind (Y and AA’.
341 1-5 —24+—i

Que.6 (a) State and prove Cayley-Hamilton theorem.

(b) ForA:(g _‘9‘4),32(2 g),c:(‘; 2),pr0vethat (A4C)B = AB+CB

OR

3

Queb () A= ( i ;i ) then show that A* = ( 1+ 2% Ak

K 12 ) where k is any positive number.

(d) IfA= ( ?1 (l) ) then find out the values of a, 3 such that (o] + SA)* = A







